
 

Library & Information Science Question & Answers 

1. Number of devices that are related to recall and precision has been studied by 

(A) Gilchrist 

(B) Vickery 

(C) Lancaster 

(D) Ranganathan 

 

2. User studies in Social Sciences was carried out by 

(A) Kuhn 

(B) Brittain 

(C) Line 

(D) Allen 

 

3. An entry that is made for the subject of a chapter in a book is referred to as 

(A) Cross Reference Entry 

(B) Cross Reference Index Entry 

(C) Class Index Entry 

(D) Book Index Entry 

 

4. The concept of UBC was introduced by 



 
(A) UNESCO 

(B) LC 

(C) FID 

(D) IFLA 

 

5. In Sears, List of Subject Headings preferred headings are indicated by 

(A) Marking them as preferred headings 

(B) Printing them in bold type 

(C) Underlining them 

(D) Italicising them 

 

6. Identify the association that has changed its original name: 

(A) ILA 

(B) SLA 

(C) LA 

(D) ALA 

 

7. Conference proceedings are considered as documents. 

(A) Conventional 

(B) Primary 

(C) Secondary 



 
(D) Tertiary 

 

8. Rules for Dictionary Catalogue were devised by: 

(A) A. Pannizzi 

(B) C. C. Jewet 

(C) S. Lubetzky 

(D) C. A. Cutter 

 

9. RSS feed is a tool of: 

(A) Graphic design 

(B) Web 1.0 

(C) Web 2.0 

(D) Architecture 

 

10. An appropriate source to find out descriptive information is 

(A) Bibliography 

(B) Directory 

(C) Encyclopedia 

(D) Dictionary 

 

11. Glossary is a: 



 
(A) List of technical words with definitions 

(B) List of words in a language 

(C) List of thematically arranged words 

(D) Alphabetical index to passages of work 

 

12. One of the following search engines is exclusively meant for scientific 
information: 

(A) Google 

(B) Yahoo 

(C) SCIRUS 

(D) Altavista 

 

13. Technological Gatekeeper is : 

(A) A formal method of giving current awareness service 

(B) A method of technology assessment and evaluation 

(C) A process of transfer of technology 

(D) An informal mechanism of keeping user informed of relevant development 

 

14. Who among the following honoured with ‘Nobel Prize’ for his substantial 
contribution in Documentation? 

(A) S. C. Bradford 

(B) Loosjes 



 
(C) Eric De Grolier 

(D) Henri La Fontaine 

 

15. The Farmington plan is associated with: 

(A) Library Legislation 

(B) Library Cataloguing 

(C) Library Cooperation 

(D) Library Indexing Service 

 

16. UNESCO assisted Model Public Library in India is located at: 

(A) Kolkata 

(B) Delhi 

(C) Mumbai 

(D) Chennai 

 

17. Mark the ‘odd one out’: 

(A) Cow-Calf principle 

(B) Principle of osmosis 

(C) Wall picture principle 

(D) Whole organ principle 

 



 
18. Information is … 

(A) Raw data 

(B) Raw knowledge 

(C) Input data 

(D) Organized data 

 

19. ‘Fair use’ is a term most relevant to: 

(A) Intellectual Property Rights 

(B) Books borrowed for home reading 

(C) Copy right 

(D) Use of reference books 

 

20. WIPO stands for: 
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(A) World Information and Patents Organisation 

(B) World Intellectual Property Organisation 

(C) World International Property Organisation 

(D) World Information Protection Organisation 

 

21. Handling of Information in the sense of production is called: 

(A) Information Marketing 
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(B) Information Industry 

(C) Information Production 

(D) Information Revolution 

 

22. GUI stands for : 

(A) Graphic User Interface 

(B) Graphic User Interaction 

(C) Graphic Utility Interface 

(D) Great Union of India 

 

23. Shelf list facilitates 

(A) Classification 

(B) Weeding out 

(C) Stock verification 

(D) Documentation 

 

24. The office of Patent Information System in India is at 

(A) Mumbai 

(B) New Delhi 

(C) Kolkata 

(D) Nagpur 



 
 

25. Questionnaire is a: 

(A) Research method 

(B) Measurement technique 

(C) Tool for data collection 

(D) Data analysis technique 

 

26. A periodical evaluation of an employee is done through 

(A) Job rotation 

(B) Performance appraisal 

(C) Refresher course 

(D) Work guide 

 

27. CCF stands for 

(A) Current Classification Format 

(B) Current Communication Format 

(C) Common Communication Format 

(D) Common Classification Format 

 

28. “Controlled Group” is a term used in 

(A) Survey research 



 
(B) Historical research 

(C) Experimental research 

(D) Descriptive research 

 

29. ‘Noise’ in Information Retrieval is due to 

(A) Precision 

(B) Recall 

(C) Relevant information 

(D) Redundant information 

 

30. BERN CONVENTION (1886) is concerned with: 

(A) Translations 

(B) Copyright 

(C) Patent 

(D) Standards 

 

31. List-I                                                            List-II 

   (Forms of Communication)                                (Medium) 

(A) Communication Barrier                                1. Radio  

(B) Communication Medium                               2. Shannon and Weaver 

(C) Communication Model                                 3. Formal 



 
(D) Communication Channel                               4. Noise 

Code : 

              (a)         (b)            (c)           (d) 

(A)          1           2              3             4 

(B)           4          1              2             3 

(C)          2           3              4             1 

(D)          3           2              1             4 

 

32. Informal communication among knowledgeable person is known as: 

(A) Invisible College 

(B) Information Gatekeeper 

(C) Communication Gatekeeper 

(D) Knowledge Management 

 

33. Match the following : 

         List-I                                                            List-II 

   (  Terms )                                                            (Forms of Communication) 

(A) Invisible College                                             1. Physical carrier 

(B) Noise                                                             2. Formal channel 

(C) Medium                                                         3. Barreir 

(D) Document                                                      4. Informal channel 



 
Code : 

              (a)         (b)            (c)           (d) 

(A)           1          2              3             4 

(B)           2          1              3             4 

(C)          4           3              2             1 

(D)          4           3              1             2 

 

34. Which one of the following is not associated with the communication system? 

 (A) Receiver  

(B) Channel  

(C) Sender  

(D) Entropy  

 

35. Which is correct logical sequence of the following? 

(A)  Information, Knowledge, Data, Wisdom  

(B)  Knowledge, Wisdom, Information, Data  

(C)  Wisdom, Information, Data, Knowledge  

(D)  Data, Infomation, Knowledge, Wisdom 

 

Answers 

 



 
1) Answer: (C) 

2) Answer: (A) 

3) Answer: (A) 

4) Answer: (D) 

5) Answer: (B) 

6) Answer: (C) 

7) Answer: (B) 

8) Answer: (D) 

9) Answer: (C) 

10) Answer: (C) 

11) Answer: (A) 

12) Answer: (C) 

13) Answer: (D) 

14) Answer: (D) 

15) Answer: (C) 

16) Answer: (B) 

17) Answer: (C) 

18) Answer: (D) 

19) Answer: (C) 

20) Answer: (B) 

21) Answer: (B) 



 
22) Answer: (A) 

23) Answer: (C) 

24) Answer: (B) 

25) Answer: (C) 

26) Answer: (B) 

27) Answer: (C) 

28) Answer: (C) 

29) Answer: (D) 

30) Answer: (B) 

31) Answer: (B) 

32) Answer: (A) 

33) Answer: (C) 

34) Answer: (D) 

35) Answer: (D) 

 


